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Question Number : 1 Question Id : 70819121634 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A radioactive sample is undergoing o decay. At any time L, its activity is A and another

time t,, the activity is TX What is the average life time for the sample ?

-

Options :
In5
t‘) 1'.1
70819170051. -
In(ty + t;)
70819170052. 2
.tz £

70819170053, In5

70819170054.

Question Number : 1 Question Id : 70819121634 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fepRICANT Tl o B 21 318, (, & PIVTd &l Uil Wihadl A 38 T L, dob,
Hﬁmmierﬁef T A SIe ol 3 ?

J

Options :

70819170051. =

70819170052. 2

70819170053, In5

70819170054.

Question Number : 2 Question Id : 70819121635 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labeled as Assertion A and the other is labeled as
Reason R.

Assertion A : For a simple microscope, the angular size of the object equals the angular size
of the image.

Reason R : Magnification is achieved as the small object can be kept much closer to the eye
than 25 cm and hence it subtends a large angle.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

20819170055, Both A and R are true and R is the correct explanation of A

70819170056. Both A and R are true but R is NOT the correct explanatinn of A

70819170057, ‘A 1s true but R is false



70819170058. A is false but R is true

Question Number : 2 Question Id : 70819121635 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gl S fauM feerell amed. FftEd faum A aiftl $RUI R 39 feclel a2

foum A : W= geeEierdl, g P SR @ Ui B AGRIVEed 3.
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AN d AG I HN.

940 fquriveHa, el el W 9 o faa

Options :
20819170055, A T R Sl gXEY Aled 9 R & A d IFg WEIH] 3E.

20819170056, A @ R S XM@Y 3ed U0 R & A O dFY SCIH0 8l

20819170057, A GIEY 38 U R §IEY A&l

70819170058, A YT FE U R 96T e,

Question Number : 3 Question Id : 70819121636 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A tuning fork A of unknown frequency produces 5 beats/s with a fork of known frequency
340 Hz. When fork A is filed, the beat frequency decreases to 2 beats/s. What is the frequency
of fork A ?

Options:

70819170059, -2 Hz

70819170060, ~-8 Hz



70819170061, 242 Hz

A0
70819170062, —+2 Hz

Question Number : 3 Question Id : 70819121636 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e THeledl dNdNddl AGde] A 9k 3¥eledl 340 Hz dRdRG= e IcEREY T

HdhaK 5 [IWs TR TXal. i@l A "Gde g¥al, [dWe dRaRal Tl vaan 2 fawg 8.
A FIEEICAmEl dRaRdl fdadl 38 ?

Options :

70819170059, 335 Hz

70819170060, ~-8 Hz

70819170061, 45 Hz

70819170062, 42 Hz

Question Number : 4 Question Id : 70819121637 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Draw the output signal Y in the given combination of gates.

A } !

e
L

B

0] 1 2 3 4 5 ts)

Options :



70819170063.

70819170064.

70819170065.

70819170066.

Question Number : 4 Question Id : 70819121637 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
féelean vaiza gRiwe 9= Y ddd dial.

A t —t _
0] 1 2 3 4 5 ts) A ._|:
Y
'B 1 I?" '.
0] 1 2 3 4 5 s
Options :

70819170063.



70819170064

—
J0s19170065. O 1 2 3 4 5 i)
70819170066. 1.2 3 4 5

Question Number : 5 Question Id : 70819121638 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I A second’s pendulum has a time period of 1 second.
Statement 1I [t takes precisely one second to move between the two extreme
positions.

In the light of the above statements, choose the correct answer from the options given
below :

Options :

70819170067, Both Statement I and Statement 11 are true

70819170068. Both Statement | and Statement 11 are false

70819170069. Statement 1 is true but Statement 11 is false

70819170070. Statement | is false but Statement 1l is true

Question Number : 5 Question Id : 70819121638 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el 3 fda faetell amad.

faam1 : dFe Soem doEe T 1 Hog JAw.

e 11 - SH S Reda e SvaNel df THET 1 des Hal.
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Options :

20819170067, 199 1 @ faem 11 S8 SRR 3imeq.

70819170068, 198 1 @ A& 11 38 g% seq.

70819170069, 198 1 AT 3¢ 97 faurd 11 g% 372

20819170070, 198 1 T& & T0T faur 11 SR1&Y 37e.

Question Number : 6 Question Id : 70819121639 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If°C" and "V’ represent capacity and voltage respectively then what are the dimensions of A
where C/V=A7?
Options :

[—27 -312T6
70819170071.[M o

r—3 413 7
70819170072, M "L 7" T']

1-21L.-413T7
70819170073. LT R i

[-11-31-2T-7
70819170074. LoRel i i



Question Number : 6 Question Id : 70819121639 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R C 4V HH IRl d @lecdl qgidad (WX C/V =\ 318) o€ A =01 fill S 3ed ?

Options :

70819170071, [ M 2L 32 T0]

[M 3L -1]3]“?]

70819170072
4 2 413 T7
70819170073, | M "L T
| 1 3 2T—-7
70819170074, | M - L0121

Question Number : 7 Question Id : 70819121640 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An aeroplane, with its wings spread 10 m, is flying at a speed of 180 km/h in a horizontal
direction. The total intensity of earth’s field at that part is 2.5 10~ * Wb/m? and the angle
of dip is 60°. The emf induced between the tips of the plane wingswillbe .
Options:

70819170075, 108-25 mV

62.50 mV
70819170076.

70819170077, 5837 mV

; . T
70819170078, ° 1122 m\

Question Number : 7 Question Id : 70819121640 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U M, WK U9 10 m T¥eiel 3Med, o fafdoediay G 180 km/hr 97 Sed 3. o
fdgay gedran &l diadr 25 1074 Wh/m? 318 @ 99 BH 60° 1. fmrar d@m

Options :
e
70819170075, 108:2> mV

70819170076, ©2.50 mV

70819170077, 8837 mV

70819170078, >+ 125 mV

Question Number : 8 Question Id : 70819121641 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A cord is wound round the circumference of wheel of radius r. The axis of the wheel is
horizontal and the moment of inertia about it is . A weight mg is attached to the cord at the
end. The weight falls from rest. After falling through a distance 'h’, the square of angular
velocity of wheel will be :

Options :
2gh
70819170079.
2¢h
2
70819170080, |1 mr
. 2mgh
2
70819170081, - T ™I
2mgh
| 21111'2

70819170082.



Question Number : 8 Question Id : 70819121641 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

r BX S¥etedl APl TRETHIE Uh SN eldeicl 8. doral & ey 3 g
A e S 1 38, SR TH mg a9 dde. ' 3ARIgT Eell TSeUHaR Al
PHE P A e

Options :

70819170079, -8

!
70819170080, | mr

| 2mgh
1+ mr2
70819170081.
2mgh
Ly T
70819170082, ~ | 2™

Question Number : 9 Question Id : 70819121642 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The trajectory of a projectile in a vertical plane is y=ax- Bx2 where a and B are constants
and x & y are respectively the horizontal and vertical distances of the projectile from the
point of projection. The angle of projection 8 and the maximum height attained H are
respectively given by :

Options:

tan 1[_%, ey
70819170083. i

70819170084.



2

Yoo

r

tan 1{&
Lt P

tan lu,
70819170085. 4p
det”
Lan lct, T
70819170086. b

Question Number : 9 Question Id : 70819121642 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

YEUHEl fAEUTY TR Yl y=ax— P2 A WY o 9 p ReRiP ded 9 x 9 y AHY
e fiquT vedr FEfACERio 9 99 Y . WEU B 0 9 Feud 96l H € AHH
Y foel amed.

Options :
I CEZ
tan™ '3, P

70819170083.

5 mn ki
lan lIxE | o
70819170084, a;, P

70819170085.

1

lan ™ ‘o,

70819170086.

Question Number : 10 Question Id : 70819121643 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two masses A and B, each of mass M are fixed together by a massless spring. A force acts on
the mass Bas shown in figure. If the mass A starts moving away from mass B with acceleration
‘a’, then the acceleration of mass B will be :

«—@—— 0000000 —8
F B A
Options :
- MF
+ Ma
70819170087.
F 4+ Ma

70819170088, M

‘Ma —F

70819170089.

'F — Ma
M

70819170090.

Question Number : 10 Question Id : 70819121643 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

YD M IRGAH 3elell A B & IF a¥gAM ToMiave R Wiiseiell ed. Mg
SR B SRAMAIR 96l S/ . R A IEGAM, B TEGAMIRE ‘2’ @RI g oA
A W B GATE @ 3w

F B A

Options :
M
70819170087, I' + Ma



F+ Ma

70819170088, ™

Ma-F
70819170089, M

F - Ma

70819170090.

Question Number : 11 Question Id : 70819121644 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I~ :  An electric dipole is placed at the centre of a hollow sphere. The flux
of electric field through the sphere is zero but the electric field is not
zero anywhere in the sphere.

Statement II  :  If R is the radius of a solid metallic sphere and Q be the total charge
on it. The electric field at any point on the spherical surface of radius
r (<R)is zerobut the electric flux passing through this closed spherical
surface of radius r is not zero.

[n the light of the above statements, choose the correct answer from the options given
below :

Options :

20819170091. Both Statement 1 and Statement 11 are true

70819170092. Both Statement | and Statement 1l are false

70819170093. Statement [ is true but Statement 1l is false

20819170094, Statement 1 is false but Statement 1l is true

Question Number : 11 Question Id : 70819121644 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Options :
20819170091, (a8 1 T faum 11 S8 aRIE¥ 377,

70819170092, 98T 1 @ faum 11 <81 9% ameq.

70819170093, 198 1 RIET 371 907 faur 11 95 aTe.

20819170094, (A€M 1 & 3ME 01 fAu 11 aRIeR 3.

Question Number : 12 Question Id : 70819121645 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A scooter accelerates from rest for time t; at constant rate a; and then retards at constant

t
rate a, for time t, and comes to rest. The correct value of t_l will be :
g = 2

Options :
a
az
70819170095.
ay
dp
70819170096.

70819170097.



ay { d>
dq

aq |i:"'12

70819170098, 2

Question Number : 12 Question Id : 70819121645 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T a0 RERTURET {, P10 o, Vol R XM @RIOM 80 9 50 L, 16 a, AR XM A

t

B 9 R WEn. gi-azmu:@a R <}
2

Options :

a1
70819170095, - 2

ap
70819170096. °1

i-:'!.l { iﬂz
70819170097. @1

-':"11 | a;_
70819170098,  °2

Question Number : 13 Question Id : 70819121646 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The internal energy (U), pressure (P) and volume (V) of an ideal gas are related as U=3PV +4.
Thegasis:

Options :



monoatomic only.
70819170099. §

70819170100. diatomic nnl}-'.

70819170101, Polyatomic only.

either monoatomic or diatomic.
70819170102.

Question Number : 13 Question Id : 70819121646 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ey T iaRa FHdl (U), <6 (P) 9 JISHRAM (V) Tl Wy U=3PV +4 391 3@, 99
e,

Options :

70819170099, P4 T3P

70819170100. 1 I T

Thad dg3U]h
70819170101. =

70819170102, SPA0aD fhal Tgaitas

Question Number : 14 Question Id : 70819121647 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The recoil sp eed of a h}-‘drogon atom after it emils a photon in going fromn=>5state ton=1
state will be

Options:

70819170103, 34 m/s



70819170104, +17 m/s

325 m/s
70819170105.

219 m/s
70819170106.

Question Number : 14 Question Id : 70819121647 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

BIggIe VAN UNe fevarEl 9, Wil o n=>5 HGeTd n=1 T SIGH BeiH G-V eI,
a m/r:ETI'E.

Options :
70819170103, +34 m/s

70819170104, +17 m/s

70819170105, 2-25 m/s

70819170106, ~19 m/s

Question Number : 15 Question Id : 70819121648 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The length of metallic wire is I ! when tension initis T " It is Iz when the tension is Tz' The
original Iength of the wire will be :

Options :

70819170107.



b < B, 8

T, + T,
70819170108. T
Tl — Tl
T, - T4
708191701009. .
Toly = Tyly

T,
70819170110. Z

Question Number : 15 Question Id : 70819121648 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gl TRl < [ 38 Weal Wil <o T, 3. 71 1, 3¢ Wiy a7 T, 3. dRel b el

I,
Options :
it b
]
70819170107. <
Tﬂ] | T]_?E
70819170108, 11 112
Tily — Tb
T, - Ty
70819170109, =
Tl - i,
70819170110, 12 — 11



Question Number : 16 Question Id : 70819121649 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A particle executes S.H.M., the graph of velocity as a function of displacement is :
Options :
a circle.

70819170111.

a parabola.
70819170112.

70819170113, an ellipse.

a helix.
70819170114.

Question Number : 16 Question Id : 70819121649 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
U HU TN A T AE. T d oA gE el 38,

Options:

70819170111. j

70819170112.

70819170113. l

70819170114.



Question Number : 17 Question Id : 70819121650 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The incident ray, reflected ray and the outward drawn normal are denoted by the unit

- = - -
vectors a, b and ¢ respectively. Then choose the correct relation for these vectors.

Options :
70819170115, P=2a ¢

B Y e
70819170116.

Py
70819170117,

il i
70819170118.

Question Number : 17 Question Id : 70819121650 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ST TR, WiaT 6201 @ GRY Beeiel o & 3FY a, b @ o & Uad WA quel
Hred. T & Wi qY HEY .

Options :

70819170115, b=a~—¢

70819170116.

70819170117, b=a+2c¢



b
70819170118.

Question Number : 18 Question Id : 70819121651 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find the peak current and resonant frequency of the following circuit (as shown in figure).

Arnmmm—”—

100mH 400 uF

() V =30 sin 100t

120 )
Options :

] :
70819170119, = ‘+and 50 Hz

70819170120, -2 A and 50 Hz

70819170121, 2 4 and 100 Hz

) :
70819170122, -2 A and 100 Hz

Question Number : 18 Question Id : 70819121651 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Gheilel TRUAT fER 9RT 9 HEE daRaRdl $iel (P IrEdcanymnT)

[
—————— BT

B
100 mH 100 wF

() V=30 sin 100t

120 (}
Options :

70819170119, = 950 Hz

70819170120, -2 A @50 Hz

70819170121, 2 A 9100 Hz

70819170122. 0.2 A9 100 Hz

Question Number : 19 Question Id : 70819121652 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Aninclined plane making an angle of 30° with the horizontal is placed in a uniform horizontal

electric field 200 % as shown in the figure. A body of mass 1 kg and charge 5 mC is allowed

to slide down from rest at a height of 1 m. If the coefficient of friction is 0.2, find the time
taken by the body to reach the bottom.

Options :



70819170123.

70819170124, 138

70819170125, 0-92s

70819170126, 040'S

Question Number : 19 Question Id : 70819121652 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fafaeramiaTei 30° B Peiel AT Yad 2[1[1%@@%%%@%?%@%

odefel T8 W AP IG(del 3. 1 kg IGAMMI a5 9 5 mC FHR 1 m g, Rer
A Well TS f3el. SR HHUl Ulid 0.2 3Me, T a6 dori URRdd Hdelell $1 e,

3

;c0s30°=—]
9

[5=9.8 m/s? sin3(°=

1
2

S
E=200N/C

Options:

70819170123. 23 s

70819170124, 138

iy
70819170125, % 3

70819170126, V20 S



Question Number : 20 Question Id : 70819121653 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A wire of 1 () has a length of 1 m. It is stretched till its length increases by 25%. The

percentage change in resistance to the nearest intogr_-r 15

Options :
%

70819170127, *°

»
70819170128, 0%

25%
70819170129, 2>

2.5%

70819170130. =

Question Number : 20 Question Id : 70819121653 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1 Q 9 el 1 m e, o 3N A0l fh Tl e 25% 1 digel. VYRl cabdnel §ad

Options :

70819170127, /0%

70819170128, 2°"

]:-'b“.:-.

70819170129.

12.5%
70819170130.



Physics Section B

Section Id : 708191983
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911263
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819121654 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The zener diode has a V.=30 V. The current passing through the diode for the following
circuitis ~ mA.

4k
AW

'
~
ol

o

=

90 V™4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 21 Question Id : 70819121654 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

R SMsd V=30 V 6. WEeiie URIA SESHET SIOINT 9RT . mA 8.
4Kk
AAAAN

90V N 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819121655 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

) 5
Time period of a simple pendulum is T. The time taken to comp[r_-te g oscillations starting

. el , O il
from mean position is —T. Thevalueofais .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 22 Question Id : 70819121655 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

kY ] k" ] 5 Y Y
e Sl BrEs P T 3. 7 iU god $edmay g e PURILIEIC
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819121656 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The volume V of a given mass of monoatomic gas changes with temperature T according to
the relation V = KT3. The workdone when temperature changes by 90 K will be xR. The
valveof xis .

[R = universal gas constant]

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819121656 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



fereTedT aegAM T ditad Y V HHRAH T TEHERER V= KI*_; 1 FEETIHI Feaia.
U@l TH 90 K 7 95 9l el B aR WA, x 9@ 3.
[R="¥dRed a1y Feris]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 24 Question Id : 70819121657 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two stream of photons, possessing energies equal to twice and ten times the work function
of metal are incident on the metal surface successively. The value of ratio of maximum
velocities of the photoelectrons emitted in the two respective cases is x : y. The value of
X 18

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819121657 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819121658 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the highest frequency modulating a carrier is 5 kHz, then the number of AM broadcast
stations accommodated in a 90 kHz bandwidth are .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819121658 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

R HUREdq dRfFEE wEwH aRarRdl 5 kHz 318 @ 90 kHz SSUSKia si¥eled] 3AM
JMuRadia JORY REE e e

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 26 Question Id : 70819121659 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In the reported figure of earth, the value of acceleration due to gravity is same at point
A and C but it is smaller than that of its value at point B (surface of the earth). The value of
OA:ABwillbex:y Thevalueofxis_ .

Earth

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819121659 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



STE(qeied] 2=l e, A 3 C g Tow TR I8 §RE e 0 B figer e
TUIUET HA1 e (Jedmam Te9M). OA:AB T ¥ x:y 3B, 2398 JE

TC
3200 km

R=6400 km

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819121660 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

BT TS . @ : R
1 mole of rigid diatomic gas performs a work of — when heat Q is supplied to it. The molar
J

g ] i ) B . A
heat capacity of the gas during this transformation is ? Thevalueof xis

[R = universal gas constant]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 27 Question Id : 70819121660 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1W@ﬁngmmmmquﬁﬂwmw

Wﬂﬁﬁﬂ% e xdYT R

R = WdfE T Reris|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819121661 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A point source of light 5, placed at a distance 60 cm infront of the centre of a plane mirror of
width 50 cm, hangs vertically on a wall. A man walks infront of the mirror along a line
parallel to the mirror at a distance 1.2 m from it (see in the figure). The distance between the
extreme points where he can see the image of the light source in the mirroris ___ cm.

S
50 cm =

60 cm

P E— Yy | | W—
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819121661 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

THIETE 9 6 S, 50 om $ERA UAE AR FENAER 60 cm 3TREY 3da 32
HRERAR T A 1.2 FeX SRTalel dRUN Y§Y GHIqR dhefd Wil (3l Ger). R
YTl ST UfcHT WY U8 Whel ¥ I Ydeedl [gAdld X om e

S
50 cm /- 9

60 cm

—  12m—m —o——

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819121662 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A particlo executes S.H.M. with amplitude ‘a’ and time pr_-riod ‘T". The disp[acement of the

particle when its speed is half of maximum speed is VY@ The value of 1 is S
%

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819121662 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
UE B a JAAN T FleEs e aXe 344 Tad 318, Wel UTEl oF Tead ol el

e e fem N4A

2

e xdYW I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819121663 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

27 similar drops of mercury are maintained at 10 V each. All these spherical drops combine
into a single big drop. The potential energy of the bigger dropis _____ times that of a
smaller drop.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 30 Question Id : 70819121663 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

WYL 27 THENE 49 TSI 10 V ol Sdofel 3ed. T ¥4 MelloR 99 Tha I%H U6 Hiel
9 TR A, Ao A Redid Sl U1 oM deRN . T 3R

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A
Section Id : 708191984
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911264
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819121664 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-I1

List-1 List-11
(Molecule) (Bond order)
(a) Ne, i 1
®b) N, (i) 2
() F, (i) O
(d) O, iv) 3

Choose the correct answer from the options given below :
Options :
70819170141, (@) — (1), (b) — (ii), (c) — (iii), (d) — (iv)

20819170143, (@ — (i), (b) = (i), (c) — (iv), (d) — (iii)

70819170144, (@ — (i), (b) = (iv), () — (i), (d) — (ii)

Question Number : 31 Question Id : 70819121664 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el 1, AT 11§16 ool
el 1 grEl 11
(¥o) (der 1)
(@) Ne, @H 1
(b) N, (i) 2
c) F, (i) O
(d) 0O, (v) 3
Elelld WEige a-Eay 9ar Hael.
Options:

70819170142, (@) — (W), (b) — (iii), (c) — (i), (d) — (i)



20819170143, (@ — (i), (b) — (i), (c) = (iv), (d) — (iii)

20819170144, (@ = (iii), (b) — (iv), (€) — (i), (d) — (i)

Question Number : 32 Question Id : 70819121665 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The nature of charge on resulting colloidal particles when Fe(l, is added to excess of hot
water is :

Options :

70819170145, Posttive

70819170146, Negative

70819170147, neutral

70819170148. sometimes pOSI’LIVC' and sometimes nr:-gatwe

Question Number : 32 Question Id : 70819121665 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FeCl, ¥NUY TRA UNVAId Ccldel A TN BT HicteldNed T9R 3E.
Options :

70819170145, 91

70819170146, =

70819170147, SN



20819170148, P T ST HEN HOI

Question Number : 33 Question Id : 70819121666 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct order of electron gain enthalpy is :
Options :

70819170149, ©>5>5e>Te

70819170150, e >5e>5>0

70819170151, 2> 0O >Se>Te

70819170152, = >Se>Te>0O

Question Number : 33 Question Id : 70819121666 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SoidgE I TR WEY P 3.

Options :

70819170149, ©>S5>5e>Te

70819170150, 1e>5e>5>0

70819170151, 2> 0O >5e>Te

70819170152, ©>5e>Te>0



Question Number : 34 Question Id : 70819121667 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List-1 with List-1L
List-1 List-11
(a) Siderite iy e
(b) Calamine ii) Ca
(c) Malachite (iii) Fe
(d) Cryolite (iv) Al
v) Zn
Choose the correct answer from the options given below :

Options:
70819170153, (@) — (1), (b) — (ii), (c) — (v), (d) — (iii)

70819170154, (@) — (i), (b) = (v}, (¢) — (i), (d) — (iv)

70819170155 (a) — (1), (b) — (ii), (¢) — (iid), (d) — (iv)

70819170156. (8) — (iii), (b) — (i), () — (v), (d) — (ii)

Question Number : 34 Question Id : 70819121667 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& 112 Tt 11 S¥ER el

et 1 A<l 11
(a) Tas<=c (i) Cu
(b) HAMREA (i) Ca

(c) HerarEe (iii) Fe
(d) wHEEEe (iv) Al
(v) Zn
Gl TIgAgd dRER Jav fael.
Options :
70819170153, (@) = (1), (b) = (ii), (¢) — (v), (d) — (iii)



70819170154, (@) — (i), (b) = (v}, (¢) — (i), (d) — (iv)

70819170155 (a) — (1), (b) — (ii), (¢) — (iid), (d) — (iv)

70819170156. (8) — (iii), (b) — (i), (c) — (v), (d) — (ii)

Question Number : 35 Question Id : 70819121668 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following forms of hydrogen emits low energy (3~ particles ?
Options :

70819170157. Proton H*

Protium %H
70819170158.

Deuterium 2H
70819170159. 1

Tritium TH
70819170160.

Question Number : 35 Question Id : 70819121668 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Geidis! SheiaTd S0 ©Y $Ul Hud - B d8Y cldhd 7
Options :

70819170157, Jei HY



uifrsE | H
70819170158.

ciad 2
70819170159. 1t

fefem 31
70819170160.

Question Number : 36 Question Id : 70819121669 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-1L.

List-1 List-11
(a) Sodium Carbonate (i Deacon
(b) Titanium (i) Castmer-Kellner
(c) Chlorine (i) wvan-Arkel
(d) Sodium hydroxide (iv) Solvay
Choose the correct answer from the options given below :
Options :
70819170161, @ = V), (B) = (i), (©) = (), (d) — (i)

20819170162, (@ — (iv), (b) = (i), (¢) — (i), (d) — (iii)

70819170163, @ — @), (b) = (iid), (c) = (iv), (d) — (ii)

70819170164, (@) = (iii), (b) — (&), (c) — (i), (d) — (iv)

Question Number : 36 Question Id : 70819121669 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



& 1, AT 11 SREY ol

Il et 11
(a) WIfSs™ HEMC (i) S
(b) fecfram (ii) PRCTN—DTN
(c) TEINH (iii) 9 IRDA

(d) wIfesm e@glqaEs  (iv) Wiew
Glelldl WIAg a¥1ar 9uX fHdsl.
Options:

70819170161. (@) = (iv), (b) — (iii), (c) —= (1), (d) — (i)

20819170162, (@ — (iv), (b) = (i), (¢) — (i), (d) — (iii)

20819170163, @) = (). (b) = (iii), () — (iv), (d) — (ii)

70819170164, (@) = (iii), (b) — (&), (c) — (i), (d) — (iv)

Question Number : 37 Question Id : 70819121670 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which pair of oxides is acidic in nature ?

Options :

70819170165, £20% 5102

70819170166, 0203 €20

N-O, BaO
70819170167. =

70819170168, 20 Si02



Question Number : 37 Question Id : 70819121670 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
DIV HFAESHEl WISl AT IS P

Options :

70819170165, 020 5102

70819170166, 2203 A0

N-O, BaO
70819170167. =

70819170168, 20 Si02

Question Number : 38 Question Id : 70819121671 Question Type : MCQ Option Shuffling
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : In TlI,, isomorphous to Csl4, the metal is present in +1 oxidation
state.
Reason R ; T1 metal has fourteen f electrons in its electronic configuration.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
708191701609. Both A and R are correct and R is the correct explanation of A

70819170170, Both A and R are correct but R is NOT the correct explanation of A

70819170171. A is correct but R is not correct

70819170172. A is not correct but R is correct

Yes

:Yes



Question Number : 38 Question Id : 70819121671 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Grefl & f9aM faeiell amed. ffvad faum A &t SRUI R 8% fSeret are.
%= faam A : TIL 1 Csl, ¥ §90d1 SR, 919, +1 3ifes R a7s.
PRI R : Tl GIGHET &1 f Selde Seidni-l Hwyud e,

I fagMiAT SEen, Welld FEMEYT Wiodd arg 9) Hael.

Options :

20819170169 S8l A HMUTR §RGY 3A2d d R € A d 9REY WEIHIU 6.

20819170170, el A 0T R XM@Y 3Med U0 R 8 A T g WEIHI .

70819170171, A TXIEX e U0 R Fhr STe.

20819170172, A TP 1S TUT R TSR e

Question Number : 39 Question Id : 70819121672 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calgon is used for water treatment. Which of the following statement is NOT true about
Calgon ?

Options :

70819170173 C algon contains the 2™ most abundant element h}-‘ wr_-ight in the Earth’s crust.

20819170174, 1t 1s polymeric compound and is water soluble.

70819170175. It is also known as Graham's salL.



N, ] g v
20819170176. It doesnot remove Ca=" ion by precipitation.

Question Number : 39 Question Id : 70819121672 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
UUIERIe WihAwIS] dherflid dIdld.  Sielicyd! derlid Wearid I fJae gord e ?

Options:

Sl A8 YLl BagHel SEGAMIEN Fdid W Aeauyl g shAiaEl Jeied
70819170173, e

d U fRY@Y SgaiNe WY e
70819170174.

20819170175, <Iel TEAY WieT SRAE FHuTel S

ol Ca?* ST HIEUUNH Plg, Hhd Ial.
70819170176.

Question Number : 40 Question Id : 70819121673 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ceric ammonium nitrate and CHCl,/alc. KOH are used for the identification of functional
groups present in ___ _and __ respectively.

Options :

70819170177. alcohol, amine

70819170178, amine, alcohol

70819170179 alcohol, phenol

70819170180 amine, phenol



Question Number : 40 Question Id : 70819121673 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WRE AT T¥¢e 9 CHCL,/KOH (3ehelieid) siar sugrm _  afr
diet fepared TTe gvaraTd] 2.

Options :

70819170177, SAePIEled, 3HIEH

70819170178, =T, el

70819170179, edIElc, W-lc]

70819170180, ~ 1=, il

Question Number : 41 Question Id : 70819121674 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 - 4
In CH, =C=CH - CH; molecule, the hybridization of carbon 1, 2, 3 and 4 respectively,

are :

Options :

5 oog gl iy
70819170181, /P WP

3 3 on3
70819170182, °F 7 5P P+ 5P

g gl 3
70819170183, 1+ ¥ 5P F

sp2, spo, sp2, spo
70819170184. P ee®



Question Number : 41 Question Id : 70819121674 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 2 3 4 R y
CHy=C=CH-CH, ¥4/ 1,2, 3 31T 4 BE-d GP0T ST 3ME.
Options:

sp2, sp2, sp2, spo
70819170181. Sl

70819170182, P 5P 5P 5P

"3 ’ 3
70819170183, ¥ 7 ¥ 5P 5

sp2, spo, sp2, spo
70819170184. Pr e’

Question Number : 42 Question Id : 70819121675 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1) Zn/HCl

O 10-20atm

Considering the above reaction, the major product among the following is :
Options :
CH,CH,

70819170185.

70819170186.



COCH,CHj

CH,
CH;

70819170187.

CH,CH,CH,

70819170188.

Question Number : 42 Question Id : 70819121675 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1) Zn/HCI
2)Cr,Oy, 773 K
O 10-20atm
e AfHfpIEel S vE 9ds 38,
Options:
CH,CHj,
70819170185.
COCH,ClH,
70819170186.

70819170187.

: MCQ Option Shuffling : Yes



CH,
CH;

CH,CH,CH,

70819170188.

Question Number : 43 Question Id : 70819121676 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identif}f A in the given reaction.

OH

SOCl, _
—— A (Major Product)

HO CH,OH

Options :
OH
70819170189, ©OH CHyU
cl
70819170190, ©H CHOH

70819170191.



OH

Cl  CH

Cl

Gl CH,Cl
70819170192. -

Question Number : 43 Question Id : 70819121676 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Hleflel AHfhIa A FiE.

OH
50Cl,
— A (IqE 3TE)
HO CH,OH
Options :
OH
70819170189. G CEbCl
Cl
OH CH,OH

70819170190.



OH

70819170191, ¢l CHC
Cl
Cl  CHyCl

70819170192.

Question Number : 44 Question Id : 70819121677 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Idc-ntf_t'}-' A in the given chemical reaction.

CH,CH,CHO SO
@: 2 » A (Major Product)
CH,CH,CHO C,;HsOH, H5O

A

II II ACHO

Options :

70819170193.

O

)
.|_c
XL

70819170194. l l

70819170195.



CH,CH,COOH

70819170196, CH,CH,CH,0H

Question Number : 44 Question Id : 70819121677 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Hleilel YIS AMABATT A e,

CH,CH,CHO ST
a
O: - —> A (798 3E)
CH,CH,CHO C,H;OH, H,O

A

l] II ACHO

Options :

70819170193.

O

]
.|_c
<15

70819170194. l I

70819170195.

CH,CH,CH,OH

70819170196.



Question Number : 45 Question Id : 70819121678 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Idc-ntf_t'}-' A in the fnllnwing chemical reaction.

SR i) HCHO, NaOH i
ii) CH3CH,Br, NaH, DMF
CH; iii) HI, A
Options:
I
: _C—OCH,CHj;
70819170197 11O
i LCH,I
70819170198, 11O
: _CH,OH
70819170199, 11O
: .CH,OH
CH,O
70819170200.

Question Number : 45 Question Id : 70819121678 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Eleilel NHAiHe  AfHfhddie A 9er.

CHO 4 HeHO, NaOH .
ii) CHyCH,Br, NaH, DMF
CH;0 iii) HI, A
Options :
1
: .C—OCH,CH,
70819170197, 11O
i _CH,
70819170198, 110
: _CH,OH
70819170199, 11O
CH,OH
CHZO :
70819170200.

Question Number : 46 Question Id : 70819121679 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-11.

List-1 List-11
Cl
Nz_’ﬂﬂ.l_ L
(a) @'/ LLI;;} +N, (i) Wurtz reaction
Cl

N, *Cl—
(b) @/ 2 C_u,—H(_l} @ +N, (i) Sandmeyer reaction

(c) 2CH,CH,Cl+2Na _ Ether C,H; ~ C,H; +2NaCl(iii) Fittig reaction

(d) 2CHCl4 ONa _ Ether , C;H:—C,H:+2NaCl  (iv) Gatterman reaction

Choose the correct answer from the options given below :
Options :
70819170201, @ — (i), (b) = (iv), () — (i), (d) — (i)
20819170202, @) = (i), (b) = (i), (c) — (iv), (d) — (i)

70819170203. (a) — (iii), (b) — (1), (c) — (iv), (d) — (ii)

70819170204, (@) — (iii), (b) — (), (¢) — (i), (d) — (i1)

Question Number : 46 Question Id : 70819121679 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



I 1, AT 11 TRIER ool

&l 1 & 1l
cl
N, Cl—
(@ O/z M>©+N2 0 T s
Cl

N, *Cl—
(b) @/2 cu,m)@% () ehR sfim

() 2CH,CH,Cl1+2Na _ ¥R . C,H;~C,H;+2NaCl (iii) fipfe srfHfeam

(d) 2CH.Cl+2Na _ ¥’ | C.H, - C.H,+2NaCl (v) e afifEa
Eee JAiameE qRaR TR e

Options :

20819170201, (@) — (i), (b) — (iv), (c) — (i), (d) — (iii)

70819170202, @) = (i), () = (i), (c) — (iv), (d) — (iii)
70819170203, (@) —= (iii), (b) — (1), (c) — (iv), (d) — (ii)

70819170204, (@) — (iii), (b) —= (iv), () — (i), (d) — (ii)

Question Number : 47 Question Id : 70819121680 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Seliwanoff test and Xanthoproteic test are used for the identification of and
o respectively.

Options :

70819170205, aldoses, ketoses

70819170206, ketoses, aldoses



70819170207. ketoses, proteins

proteins, ketoses
70819170208.

Question Number : 47 Question Id : 70819121680 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :
70819170205. seers, fhers

70819170206. PO, IS

70819170207. IpCred, Wi

70819170208, ° , Tpe

Question Number : 48 Question Id : 70819121681 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List-1 with List-11.

List-1 List-11
(a) Sucrose (i) P-D-Galactose and B-D-Glucose
(b) Lactose (i) «-D-Glucose and p-D-Fructose
(c) Maltose (iif) o-D-Glucose and o-D-Glucose
Choose the correct answer from the options given below :

Options :

: MCQ Option Shuffling : Yes



70819170210, @ — (i), (b) = (i), (c) — (i)

70819170211. {ﬂ] — {]:.], {bj —3 {]:.ii], {C] — {]:.i]

70819170212. (@) — (iii), (b) — (i), (c) — (ii)

Question Number : 48 Question Id : 70819121681 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ST 1, ST 11 976 bl

aral 1 e 11
(a) I (i) p-DTefders ST B-D-Tefdra
(b) oider (i) o-D-Te[drad 3T B-D-pacd
(c) Heord (i) o-D-Te[PIal AT @-D-Tofobld

Glelid YIAAgA aRE §wY g,
Options :
70819170209, (@) = (i), (b) — (i), (c) — (iii)

70819170210, @ = (i), (b) = (i), (c) — (i)

Question Number : 49 Question Id : 70819121682 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2,4-DNP test can be used to identify :

Options :



70819170213, halogens

70819170214, aldehyde

70819170215, amine

70819170216, ©ther

Question Number : 49 Question Id : 70819121682 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2,4-DNP =01 9=0=EI 9@ SNYvgNErel dYdl ddl.

Options :
70819170213. *

70819170214, FNCSEES

70819170215. E

70819170216, %

Question Number : 50 Question Id : 70819121683 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A. Phenyl methanamine

B. N,N-Dimethylaniline

C. N-Methyl aniline

D. Benzenamine

Choose the correct order of basic nature of the above amines.



Options :

70819170217, A >B>C>D

70819170218, D> C>B> A

70819170219, 2> C>B>D

70819170220. P> B>C>A

Question Number : 50 Question Id : 70819121683 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A. TraEa feAmEA

B. N N-—s@Efggasife

C. N-FaEa e

D. dfREEEA

Cellel YAMAgd adlel HE~adl edigidl avay BTl o

Options :

70819170217, A > B>C>D

70819170218, D> C>B> A

70819170219, 2> C>B>D

70819170220, P> B>C>A

Chemistry Section B

SectionId : 708191985



Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911265
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819121684 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The NaNO, weighed out to make 50 mL of an aqueous solution containing 70.0 mg Na*
permLis g (Rounded off to the nearest integer)

[Given : Atomic weight in g mol 1. Na:23:N:14:0: 16]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819121684 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
50 mL Wferd NaNO, <19und 70.0 mg Na* $1/mL 3&0g Ol AE A g 3.
(a5 quisr)
(feetel a8 > 30 qEGAF g mol 1_Na:23,N:14,0: 16 )
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819121685 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of octahedral voids per lattice site in a latticeis . (Rounded off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819121685 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
WedTiel YS! Udbodial U Wleid NggaR & 3. (i)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819121686 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

A ball weighing 10 g is moving with a velocity of 90 ms L 1f the uncertainty in its velocity
is 5%, then the uncertainty in its position is x10~3 m. (Rounded off to the
nearest integer)

[Given : h=6.63 %103 Js]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819121686 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

10 g @1 ¥ 90 ms ™! =T 97 WA M. WX MM dUIe HHTEEAA 5% el a¥ Al
WHRE FEREad  x107 ¥ m IR, (S [Uie)

(feeet 38 : h=6.63x10"*]s)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819121687 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The average S—F bond energy in k] mol L of SF(.] is . (Rounded off to the nearest
integer)

|Given : The values of standard enthalpy of formation of SF(g), S(g) and F(g) are - 1100, 275
and 80 k] mol ! respectively.|



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819121687 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

S—F §erdl SF, il ¥R 99 Wl Kimol 1 98 oM. (GdarAl QUiieh)
(fotet 3me : A U Tredl SF (a1y), S(ary) T F (ary) - 1100, 275 3M1for 80 k] mol 1 SrfeH
CIESH

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819121688 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

When 12.2 g of benzoic acid is dissolved in 100 g of water, the freezing point of solution was
found to be —0.93°C (K¢ (H,0) =1.86 Kkg mol 1Y, The number (n) of benzoic acid molecules
associated (assuming 100% association) is ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819121688 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

12.2 g Eiizd 3 100 g TGN fvEddel 31, TR Heled] wqumEl Mevid —0.93°C 3.
(K (urvft)=186 K kg mol ) WeaNl defisd reiredl XAl €&l (n) 3.
(FAT 100% WEaNl 318)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 56 Question Id : 70819121689 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The pH of ammonium phosphate solution, if pk, of phosphoric acid and pky of ammonium
hydroxide are 5.23 and 4.75 respectively, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819121689 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



BIEPING Al pk, 3O A BTG Sd pky, FIPH 5.23 T 4.75 FTAHT JFHIIA
BEhe wEuE pH .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819121690 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Emf of the following cell at 298 K in V is x> 10 2
Zn/Zn?* (0.1 M)||Ag* (0.01 M)|Ag
Thevalueof xis . (Rounded off to the nearest integer)

| 2.303RT
[Given 3 O =+ 080V ; +RI =0.059]

2. =—076V;E
n° fZn A

+

g fAg

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819121690 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Gleiled Berd 298 K o fagfd THa g (emf) V HET xx 102 318,
Zn/Zn?* (0.1 M)|Ag™* (0.01 M) Ag

x W fEad e (Saoel QUiier)
' 2.303 i
[feer ame : E? ,,  =-076V;E® . =+080V; eesa 0.059]
In*" fZn Ag'/Ag F

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819121691 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the activation energy of a reaction is 80.9 k| mol ! the fraction of molecules at 700 K,
having enough energy to react to form products is e”*. The valueof xis o
(Rounded off to the nearest integer)

[Use R=831] K~ 1mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819121691 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

TSl el Wihau Sl 80.9 k] mol ! &8, 700 K TIUHMIC YN il GV XUl
39 O 9UE TUR B dAI e F ;e xWfbW e, (Faca QUiird)
[dRT R=8.31 ] K~ ! mol !}



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819121692 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In mildly alkaline medium, thiosulphate ion is oxidized by MnOy to “A”. The oxidation
state of sulphur in “A" s .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819121692 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

favel Sich e armaeud, MnO; §o5 dRivethcd Sifedeiay ‘A’ Hell 3 Hehedl ‘A #hle

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 60 Question Id : 70819121693 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of stereoisomers possible for [{]::r{u:nc]31['Br){1\II-T3]]2 is

[ox =oxalate]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819121693 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[Co(ox),(Br)(NH,)]2~ Hellel Biffdg Wil = . 3(e,
(ox= Hid=ieic)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A

Section Id : 708191986

Section Number : 5



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 7081911266
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819121694 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the mirror image of the point (1, 3, 5) with respect to the plane 4x -5y +2z=8is (o, B, ¥),
then 5(a+f +v) equals :

Options :

70819170231, 39

70819170232, 41

43
70819170233.

70819170234, 7

Question Number : 61 Question Id : 70819121694 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SR (1,3, 5) &1 fag =t seemdre $f (mirror image) 4x 5y + 2z =8 I1 Fae=A HEHA (q, B, )
I, T 5+ p+y) TR

Options :



70819170231, 39

70819170232, 41

43
70819170233.

70819170234.

Question Number : 62 Question Id : 70819121695 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let A=1{1,223 ..10}and f: A — A be defined as
'f{ka [k+1 ifkisodd
- | k if k is even
Then the number of possible functions ¢ : A — A such that gof=fis :
Options :

|
70819170235. 3!

70819170236.

70819170237.
70819170238, 10°

Question Number : 62 Question Id : 70819121695 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



TS A ={1,2,3,...,10} 01 f: A — A Ff¥=d (defined) 3=

jk| 1 SRk faus a1,

fk) = :
| k SHkTAIAR.

SH W gof=fFAA MW g: A - A Felidl M= F=A1 AR

Options :

70819170235, 2

70819170236.
70819170237.

70819170238, 10°

Question Number : 63 Question Id : 70819121696 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let A, be the area of the region bounded by the curves y=sinx, y=cosx and y-axis in the
first quadrant. Also, let A, be the area of the region bounded by the curves y=sinx, y=cosz,

x-axis and ¥ :% in the first quadrant. Then,
Options :

T T s
708191702309. ApiAy=l:i2and AptAy=1
70819170240, A1 A2=1: 2 and A +A,=1

70819170241, A1~ A2 and A+ A= 2

2 — : = :
70819170242, 281~ Az and Ayt Ap=T+4 2



Question Number : 63 Question Id : 70819121696 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T Yfgedn T, y=sinx, j=cosx &1 y—ﬂfﬂw Tﬁ( fEg (bounded) Foledl &9
(region) B Ay A e 0 | EI"\'”'IH“TEJ y=sinx, iy=cosx, x-514 o 1'=§ =1 Eﬁ(
g e T T A, TR W

Options :
70819170239, P iRy =12 AN A, 44,1

R W ;M A, + A =1
70819170240, 1 "2 V2 B

20819170241, M1=A2 T A+ A= 2

7 — T - ;i ."_
20819170242, 281 = Az FM A+ Ay =T+ 42

Question Number : 64 Question Id : 70819121697 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fO0<a b<1 and tan la+ tan ! b = :l—', then the value of

| s S 24, 14
(a +b) [ﬂ Lh]|[d ;b] [ﬂ ;l]h---is:

Options :

70819170243.

70819170244.

>
70819170245, 1082



k|

_ B
lngﬁl =
70819170246. hea

Question Number : 64 Question Id : 70819121697 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S0<a b<1 M tan 'a+ tan lhzi,?ﬂ

@ +b) a4+ p" I a’> +b° [a'llb‘1 I = NS
> 3 |4 b L PR
Options :
e
70819170243.
el -1
70819170244,

70819170245, 198¢?

70819170246. hia

Question Number : 65 Question Id : 70819121698 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

9
o +y
y *’r. If the curve

X

Let slope of the tangent line to a curve at any point P(x, y) be given by

intersects the line x + 2y =4 at x= -2, then the value of y, for which the point (3, y) lies on
the curve, is

Options :



03 | =

70819170247.

18

70819170248. .

18
70819170249, 3

18

11
70819170250.

Question Number : 65 Question Id : 70819121698 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

o xyz by

FIVATE! F5H P(x, y) Tag Al FecTed] PIyER Tl (tangent line) &t (slope)
X

R, WAE 1+ 2y =4 T WA x= -2 WY Fedl, A (3, y) o THWD e Wy A, g

»,

CHRNTT . |

Options :

=

2
70819170247.

18
70819170248. =

18

70819170249, 32

18

11
70819170250.



Question Number : 66 Question Id : 70819121699 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

om 2 -
The sum of the series S = i 1 is equal to :
r::l (?.I‘l + 1)!
Options :
e IR
70819170251, & 8
e O L A, Y
70819170252, © 8
%} |-%? R [
70819170253.
e P L T

70819170254, 8 8

Question Number : 66 Question Id : 70819121699 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= ]

S nZ +6n + 10

~  (2n+ 1) A AV (series) AMNA R @

n=1
Options :

%e [ Ee_l 10
70819170251.

e SO L e )

70819170252, °



%c I l—: e L —10
70819170253.

41 19 4
—e— — ¢ 10
70819170254, 8 8

Question Number : 67 Question Id : 70819121700 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
X

Let f(x)= Iet f(dt + e” be a differentiable function for all x € R. Then f(x) equals :
0

Options :

70819170255. ~

70819170256.
70819170257.

70819170258. ~

Question Number : 67 Question Id : 70819121700 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
X

A f(x) = Iﬂt f(Hdt + e Ty R 91 fawera wa (differentiable function) . ® f(x)
]

-

Options :

2e(e*~1) -1
70819170255.



70819170256.
70819170257.

70819170258.

Question Number : 68 Question Id : 70819121701 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f(x) be a differentiable functionat x =a with f'(a)=2 and f(a) =4. Then lim M
5 X—a 3 C

equa[s:
Options :
~,
70819170259, 22 4
'_').
70819170260, = 2@
", :
70819170261, 22 T4
at+4
70819170262.

Question Number : 68 Question Id : 70819121701 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A f(x) T x=a d e wd (differentiable function) A T f'(a)=2 &AM f(a)=4, T
o af(a) - af(r)

——— ®{

lim =
X—a X —a4a



Options :

70819170259. ~

70819170260. = ~

7, .
70819170261, 22 T4

a-+4d
70819170262.

Question Number : 69 Question Id : 70819121702 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 _ .9
x‘=x=2 :
Let f(x)=sin"! x and &(*) = P If g(2)= Iin}J g(x), then the domain of the
i X=X x—2

function fog is :

Options:
(— =, =2] w l ;a e |
70819170263. = 4
( 00, 2] ) %f '+
70819170264, w &8
(-, ~1] U [2, )
70819170265.
(-, —2U[-1, »)
70819170266.

Question Number : 69 Question Id : 70819121702 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

2
xr-x-2
THA f(x) =sin IIWSUJ=
flx) % BSER
(domain) __ .
Options :
. . :
(- =, zlu[ )
70819170263. = /
' : \.
e |-, )
70819170264, W R
(-, —1] U2, )
70819170265.
(—o, =2Ju]-1, =)
70819170266.

Question Number : 70 Question Id : 70819121703 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A(1, 4) and B(1, —5) be two points. Let P be a point on the circle (x 174 (y—1)

. W 8(2)= }1_1}1} 8\X), T fog A Ferd AfE

7

=1

such that (PA)? + (PB)? have maximum value, then the points, P, A and B lie on

Options :

70819170267, 2" cllipse

70819170268, 2 Myperbola

70819170269, @ parabola

70819170270, @ straight line



Question Number : 70 Question Id : 70819121703 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TS A(1, 4) AMB(1, - 5) T 3A fag sMea, Toen P @1 fag (x— 1)2+ (y - 1)2=1 = TR 32,
S FI (PA)? + (PB)? & H&wH o4 (maximum value) #EA,

WP, AMMBERg W

Options :

70819170267, 730 (an ellipse)

70819170268, 1 (a hyperbola)

: (a parabola)
70819170269.

70819170270, @ 1 (a straight line)

Question Number : 71 Question Id : 70819121704 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— —

If vectors a; =x!{'\. ;r  k and a) = i1 '\t,r}. I zﬂ are collinear, then a possible unit vector
parallel to the vector 1! ty J tz ﬂ I8

Options :

70819170271, V2 AL

L
70819170272 ¥

70819170273, V2



70819170274, V2

Question Number : 71 Question Id : 70819121704 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—

W a, - '}" vk ST ay = i3 y ; b 2k & WA (collinear) AT e

GiLs x.z' by .;' [ zk 7 Gl THIE S HWW Hfew (possible unit vector)

e,
Options :

1l ien
70819170271. ¥+<

3
70819170272.
70819170273, V3

70819170274.

Question Number : 72 Question Id : 70819121705 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

LetFy(A, B,C) = (AA~B) v [~C A (AvB)]v~Aand F,(A, B) = (Av B) v (B— ~A) be two
logical expressions. Then :

Options :



70819170275, F, and F; both are tautologies
70819170276. l"'l is a tautology but F2 is not a tautology
70819170277 Fl is not a tautology but F2 is a tautology

Both F; and F, are not tautologies
70819170278. o

Question Number : 72 Question Id : 70819121705 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A (A, B,O)=(AA~B)v[-CA(AVvB)]v~A 1] F>(A,B)=(AvB)v(B—=~A) M
THETH T (logical expression) AqRA. W

Options :
20819170275, F, & F, Sl 3¢ (tautologies) #HTEd.

F ! - - F : ﬂ.'
20819170276, 11 T3 3¢ Y F, ST el

70819170277. F, ST3em el 9g F, SAJem .

20819170278, el Fy S F, STFerd Trer.

Question Number : 73 Question Id : 70819121706 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A seven digit number is formed using digits 3, 3, 4, 4, 4, 5, 5. The probability, that number
so formed is divisible by 2, is :

Options :

70819170279.



‘-H}|-_,._1'

6
70819170280. *
1
70819170281, /
4
70819170282.

Question Number : 73 Question Id : 70819121706 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
3,3,4,4,4,5,5 & &% (digits) STTEA 7 e T FEA TR 2.
LR e o S |

‘.

A 2 7 39T (divisible) B

Options :

‘-H‘]:l'__g.

70819170279.

1E-9

70819170280.

HJ||_'..

70819170281.

‘-.J|,4-_..'

70819170282.

Question Number : 74 Question Id : 70819121707 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following system of equations :

x+2y—3z=a

2x +6y—11z=Db

x—2y+7z=c,
where a, b and c are real constants. Then the system of equations :
Options :

70819170283, has a unique solution for all a, b and c

I i r )
70819170284. has a unique solution when 5a=2b+c¢

70819170285 has infinite number of solutions when 5a=2b+ ¢

70819170286. has no solution for all a, band ¢

Question Number : 74 Question Id : 70819121707 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x Zy 3z=a

2x 6y 11z=b

x 21; F7z=0C
ST a, b #AfU0 ¢ ¥ FFAd 319 (real constants) 3724,
Options :

20819170283, “FA (unique) SFE A T a, b MV ¢ HST

r‘\ Jght] e =2
70819170284, T e S8l 5a=2b +c

3 r —— r 4 £ s . . = _n
70819170285 T FFHAEN FHE=A (infinite number of solutions) 3 S=8l 5a=2b+c



70819170286, ¥ el T a, b AT c Hel

Question Number : 75 Question Id : 70819121708 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The triangle of maximum area that can be inscribed in a given circle of radius ‘r’ is :

Options :

70819170287. An isosceles triangle with base equal to 2r.

70819170288. A right angle triangle having two of its sides of length 2r and r.

f
An equilateral triangle of height _—:
70819170289. '

An equilateral triangle having each of its side of length ﬁ r.
70819170290.

Question Number : 75 Question Id : 70819121708 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
r B S Hﬂﬂqgﬁ Arqfaf@d (inscribed) T T 4AEE (maximum area)

Options :

¢ fz ) : 1 3 = . ] =,
70819170287. T HHGYS 31 (an isosceles triangle) A= 91 =R 2r HAR.

70819170288, TF HEaHA R (a right angle triangle) =A=41 =M EHTTEFF A 2r 200 ¢ 3T

= T 2 =
TF FHYS 53 (an equilateral triangle) =HT=1 31 = e,
70819170289. 3



20819170290. T AYS 0 sr=a1 Uk Je=t 3491 43 ¢ 312,

Question Number : 76 Question Id : 70819121709 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let L be a line obtained from the intersection of two planes x+2y+z=6 and y+2z=4. If
point P(a, B, v) is the foot of perpendicular from (3, 2, 1) on L, then the value of 21(a+ + )
equals:

Options :

68
70819170291.

02

(51

70819170292.

70819170293, 136

,_.
e
=]

70819170294.

Question Number : 76 Question Id : 70819121709 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
UL & x+2y+2=6 S0 y+22=4 A I Faaren D& TGT WG Feel o Az, T L W
(3,2, 1) T =1 94 (foot of perpendicular) T3 Pla, B, y) #1E, T 21+ B +v) = o3 TR

Options :

68
70819170291.

70819170292, 102

70819170293, 136



70819170294, 142

Question Number : 77 Question Id : 70819121710 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Letf: R — R be defined as
12 r-;in( 2 ifx<—1
| \, 2 A

) = 1

fx) llax2 +x + b, if-1<x <1
| sin(wx), it x >1

If f(x) is continuous on R, then a +b equals :

Options :

70819170295.

70819170296.

70819170297.

70819170298.

Question Number : 77 Question Id : 70819121710 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TS f: R — R fafe=a o,

'

;ZE sin

fia]

T

— | Mx<-1

s 1

ax’ +x+bH M-1<=x=<1
| sin(x) 9l{x > 1

o f(x) Z R o Had (continuous) #E, W a + b == -

Options :



70819170295. 2

70819170296.

70819170297.

70819170298.

Question Number : 78 Question Id : 70819121711 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f the locus of the mid-point of the line segment from the point (3, 2) to a point on the circle,
12 yzz 1 is a circle of radius r, then r is equal to :

Options :

|-l'-||—'-'

70819170299.

'__,Jl;_.

70819170300.

M| =

70819170301.

70819170302.

Question Number : 78 Question Id : 70819121711 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(3, 2) A I 2 4P =1 7 St T fEg A TR 20 e (line segment) =T
qeg-faig o f19M (locus) r B oM O o o, Wr Al AR



Options :

s
70819170299, %
1
70819170300. 2
.
;
70819170301, <
1
70819170302.

Question Number : 79 Question Id : 70819121712 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A natural number has prime factorization given by n=23¥5%, where y and z are such that

5 " Qi NI : :
y+z=>and ¥ e 5 y > z. Then the number of odd divisors of n, including 1, is :

Options :

70819170303.

70819170304. =

70819170305. "~

70819170306, %

Question Number : 79 Question Id : 70819121712 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



U T T Ho #9949 (prime factorization) n=2"3¥5° e, S y S 2 Y A,

1

= y i~ 5 i~ Wy
Y H y+z=5 M y L =g,y:~z,mnﬂmmmﬁ%m (odd divisors)

-,

= e,

Options :

70819170303.

70819170304. =

70819170305. =

70819170306, %

Question Number : 80 Question Id : 70819121713 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

*log, t ' (1)
For x > 0, if f(x)= _I‘Jg'—l*"t)dt, then f(e) 4 f| = | is equal to :
1 e/

Options :

70819170307, U

70819170308.

bl [

708191703009.

70819170310.

Question Number : 80 Question Id : 70819121713 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ilﬂg

x>0 93, S f(x) = {l -

Options :

70819170307. ¢

=l

70819170308.

M| =

708191703009.

70819170310.

dt, ™ f(e]l,f]—ﬁ EnGn
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Question Number : 81 Question Id : 70819121714 Question Type : SA

708191987
6

Online
Mandatory
10

5

20

Yes

1
7081911267

Yes



Correct Marks : 4 Wrong Marks : 0

.1 7 y
1 L 1 . 1

I, ,= Ix’]‘_1{1 7" Tdy, formn=1land [———dr=aly ,ae R thena

“ ” {1 |ljl]]1"'l'l

equa[s &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819121714 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

I s i
1 m=1 IJL'” 1

i b B X
W, , = Ixm 11 - 2™ dx, m,n = 1 T anfor [—_ dr=aly ,ac R, Wa
# {1 | me n
0 1]

-,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819121715 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let z be those complex numbers which satisfy
7+5 < 4and z(1 +i) +Z(1 —i) = —10,i = -1,

If the maximum value of |z+1/2 is « A I&\E, then the value of («+f) is __



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819121715 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Tl 2 @[z +5) < 4 AW Z(1+4) +Z(1 - i) = —10,i= -1

T Yol FON WHG @ (complex number) R, Tz +112 9 72T o4 (maximum value)

=,

o+ B2 O, W+p)IqF R
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819121716 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let the normals at all the points on a given curve pass through a fixed point (a, b). If the

curve passes through (3, —3) and (4, Z\E], and given that 'a- 2.2 b=3 then

(a®+b*+ab)isequal to .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 83 Question Id : 70819121716 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
el et JgTa 94 fag=a Yeid 11 (normal lines) (a, b) T95 7Y WM. R & (3, —3) 370
(4, — 22) % WA T, 3 o - 2J2 b=3 feiel M, W (@2+b2+ab) AR

=

Al

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 84 Question Id : 70819121717 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let a be an integer such that all the real roots of the polynomial
2x° 4 5x% + 102 + 1022 + 10x + 10 lie in the interval (a, a+1).

Then, |a|isequal to .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 84 Question Id : 70819121717 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T & TF qUF (integer) e, W@ &1 207+ 52 41023 + 1062+ 10x +10 A1 FgURTH
(polynomial) T4 Fd HE\ (real roots) (a,a+1) & HFTA (interval) 7] AR, T a| FWER

w,

_ Jir.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819121718 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
18 18
Let X, X, ..., X,q be eighteen observations such that Y (X; = @) =36 and . (% [5)2 =90,
i=1 i=1

where o and [ are distinct real numbers, If the standard deviation of these observationsis 1,
then the value of @« — | is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819121718 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



EEE| Xl, er - Xls 2118 g (observations) e,

B 18 i § .. .

FEA D (X; —a)=36 A0 > (X; - )" =90, 5= « AW B T A (distinet) T T
1=1 i=1

e, ST A1 Fieom=n $oml fa=e (standard deviation) 1 312, ® |« — B| = Je3 T

-,

Hle.

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819121719 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
1000 | 100
If thematrix A= 0 2 0 |satisfies the equation A*’ + «A"™ +BA={0 4 0| forsome
a0 -1 00 1

real numbers « and 3, then p~« isequal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819121719 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



1 0 0 1 00

WA=[0 2 0| & 9ROl (matrix) AR 4+ aAY 1 BA={0 4 0 FTEl A T (real
30 =1 138 1 §

numbers) « M 3 &, 1 FHEE TC’FT T, WL - TR/

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819121720 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let a and B be two real numbers such that a+p=1 and ap=-1. Let p, =(a)"+ ()",

> ; ooy
Pn-1=11and p, ;=29 for some integer n = 1. Then, the value of p_ is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819121720 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
T o AW G A T A A Aed. T R o+ p=1 AW ap= 1. T p_= (o) + (B)",

,

. " [ [ i :J_ =,
Pyoq=11Mp =29 n=1F[NF WS Rp, 9909 &,

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819121721 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The total number of 4-digit numbers whose greatest common divisor with 18 is 3, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819121721 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
18 W (with) 4-371 WeAe W W@ oW, T FewW HEW NS (greatest

common divisor) 3 .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 89 Question Id : 70819121722 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[f the arithmetic mean and geometric mean of the p“' and q”' terms of the sequence
16, 8, —4, 2, ... satisfy the equation 432 -9y +5=0, then prgisequalia. - o .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819121722 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

W -16,8, -4,2 ... 1 HAFE (sequence) p“' o q“' e T 7 (arithmetic mean)
afy qu?ﬁ A9 (Geometric mean) 4x2-9x+5=0 A HHHTOE! ll?ﬁ HTAE, W ptq ERED

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819121723 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let L be a common tangent line to the curves dx? 4 91}2: 36 and (2v) {23;)2: 31. Then the
square of the slope of thelineLis .

Response Type : Numeric

Evaluation Required For SA: Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819121723 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T L2 4a2 91;3: 36 S (2x)% {2};]2:3] 7 T TFEE TS 1 (common tangent
line) 3. T L =1 Fel (slope) =1 E LN |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



